N = 0 &8 AFH Y & A AN
20149 = 20l & LBEHSH MOFS S AFLD
2 A MOISE A
HE: MOIS2SS HASHAUDTHY/AUHT)
©e: RVESSHH S4 (29l & 2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
MOt S S AFDF 741,477 803,008 A61,531
= 64,213
& 60,097
Al 617,167
MOlS2s 243 (238 /dts ) 278,000 382,590 A 104,590
< 44,500
Al 233,500
=0USEHH B4 278,000 382,590 A 104,590
< 44,500
Al 233,500
=002sEH 2GS X A 28,600 146,670 A 118,070
201 L2 Y| 16,700 16,670 30
01 At 22l Yl 13,400 13,400 0
O=2&J & Jt22 Wi 4,000
— MO & 4,000& * 5000K 2,000
—HIE2AHaII2s e 4,000& * 5000H 2,000
ONDI23g & H3tXx Ha 1,500,000& * 13 1,500
OMOIZ23 & I EH =82
100,000& * 23] 200
OJtgllzZoltl & Z&J| 3l
30,000& = 5004 A 1,500
O=002s 28= ME 2,200
- Ro=2 100& + 28 = 2,5000H 500
— 89 60,000& = 5& =* 33 900
—-=2=2 1,000& * 4 = 20004 800
O0I2t0l HE &I M & 100,000& * 4004 4,000
02 352494l 3,300 3,270 30
OMOIS3 & ASotXME3IHl 100,000& * 13 100
OMOIZ23 2 SFHEREL S 100,000& * 23] 200
OMDOIZ23 & SXb] 3,000,000& = 14 3,000
401 A& H L 2T 10,000 30,000 20,000
01 A& HI 10,000 30,000 A 20,000
ONDIE2a &2 XL+ 10,000,000& * 14 10,000
405 XtabFE SHI 1,900 0 1,900
01 AL 2B F SHI 1,900 0 1,900
OZEH(HI2AH A 1,000,000& * 1CH 1,000
OZgIH (HI2AH AHD]) 900,000& * 1CH 900
=02sHH XS 58,400 139,320 A 80,920
301 PP B A 58,400 77,120 ~18,720
09 #AAH 2 A2 58,400 77,120 A 18,720
ONMOISXEXUE EAX oYl
80,000& * 30¥ = 23 4,800




2 A MOISE A
HE: MOIS2SS HASHAUDTHY/AUHT)
©e: RVESSHH S4 (29l & 2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OMOIESXN =X UEM ofd]
80,000& = 5Y * 142 * 23| 11,200
O=o2SHA AOIL, DEEA ol
80,000& = 10¥ * 33 2,400
OcSel2sEntg FA0lY
80,000& = 10¥ * 13 800
oHENaleSHLE SA0E Ftoly
80,000& = 30¥ * 2¢ 4,800
OHtZHAII2s =sMMe AXUg &I I
80,000& = 30¥ * 13 2,400
OHIZHAIISSALE0&TE & Dtoll
80,000& = 30¥ * 1< 2,400
OMOISXIE A J|20d 8,400
— 04 Hl 80,000& * 40Y¥ 3,200
— x| 130,000& * 40¥ 5,200
OXES A Zel X d 5,000
— 04 bl 80,000 = 15% x 2¢ 2,400
— W=H| 130,000& * 209¥ 2,600
OMOISXEX 2l XHotE 2,420
— 04 Hl 80,000& = 7Y x 2 1,120
— W= 130,000& = 10¥ 1,300
O=sSANE2d2shE 1,210
— o4t 80,000&  7H 560
— = 130,000& * 5Y 650
OAIEEZ JiPe=E IIEULRE 1,210
— 04 bl 80,0008  7H 560
— W= 130,000& = 59 650
ONDI2 s21t3E 2,340
— 04 dl 80,000& * 13Y¥ 1,040
— W= 130,000& = 10 1,300
O1lnM EE3HUE 1,470
— Ot 80,0008  7H 560
— 4| 130,000& = 79¥ 910
O=&M EE3NH 1,470
— 04 bl 80,000& = 7H 560
— W=H| 130,000& = 79¥ 910
OEQIAB 3 (b 80,000& * 19Y 1,520
Odelda e ¢l 80,000& * 19Y¥ 1,520
ONEZ2F0EL O] 80,000 * 19Y¥ 1,520
O21cM D22l Al g 2k HI 80,000& * 19Y¥ 1,520
=202 243 21,200
301 LerE A3 21,200
09 HAIAHIBAZ 21,200




M MOtSS At
H: MOIS2S 24T A /LBEHEH)
oo BoesSed |4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMOISXNEX A& X As
80,000& = 359 5« 14,000
OotHtedalII2sgs Hd&X As
80,000& = 18 « 5¢« 7,200
I02SHHM AL IR 42,200 0 42,200
307 glz2+ol & 42,200 0 42,200
02 QI2tFAE XS 42,200 0 42,200
OMOISZASAL 2L (EXE 90%)
5,000,000& = 1JH Xl 5,000
ORssald 2IXI(EXE 70%)
5,000,000& = 1JH Xl 5,000
OMOISEH f3E 2SN
5,000,000& = 1JH Xl 5,000
OLETHUBANE 2L (EXE 90%)
2,000,000 * 13 2,000
OGreen City =& AtE  5,000,000& * 374 EHXl 15,000
OMGOIE &dotataiol 22 X&
10,200,000 = 14l 10,200
S22 ALK 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 QIZtHAIE XS 20,000 0 20,000
OMOE H2EItts X&
3,000,000& * 14 3,000
OMOISXIEX =8UssS XN (EXE 90%)
10,000,000& = 13l 10,000
Ott2AHAIIgos +8Uss NA(EXZE 69
%) 5,000,000& = 13l 5,000
O=2=MAXUS XN (BEEXE 80%)
2,000,000& * 13l 2,000
21c Motses 435(%) 107,600 96,600 11,000
< 44,500
Al 63,100
206 M= Hl 10,000 0 10,000
= 5,000
Al 5,000
01 =4l 10,000 0 10,000
OMRESL2DSAST] FAETS 7
5,000& * 10& = 103 * 2000 &l 10,000
< 5,000
Al 5,000
301 et d = 23,000 23,000 0
S 11,500
Al 11,500
02 Het=Lstit= 23,000 23,000 0
OMOIEXNERAH ZeZ KA
1,150,000& * 20 23,000




2= AD
22 2HEH(LBTTYT/LBHT)
2SN S4

- _ _ RE]
M- B (B H) - NSAY - B %@i 2t
= 77,500
Al 11,500
307 2izto| A 74,600 73,600 1,000
< 28,000
Al 46,600
02 It A X2 74,600 73,600 1,000
OQYHE0IES e =X 9,600,000& = 1A 9,600
= 4,800
Al 4,800
OMOIS2=sxzM2E XE 31,000,000 * 14 31,000
< 11,000
Al 20,000
Ood=Est82Xel SHEIIAIY
2,400,000& = 100 £ 24,000
< 7,200
Al 16,800
Ot alIes g4dst=8 91
10,000,000& * 102 10,000
< 5,000
Al 5,000
Aostd g (FES/ ) 56,148 48,776 7,372
ANHEHd BX 56,148 48,776 7,372
NHES EsXd 37,650 31,440 6,210
201 gBt2Ad| 24,690 21,500 3,190
01 AP 2t 2| H| 3,500 3,500 0
OXNEs MYIles MHE 40 * 50,0000H 2,000
OXNEsS Y sHetd N &8 E22 & 1,500
—E8 MG 50& x 3= = 2,0000H 300
— S9N & 60,000& * 5& x 43| 1,200
02 2% 4| 21,190 18,000 3,190
OXNHYSAIEA(2EE2H)
35,0003 * 49= » 8& 13,720
OXeSAIGHEA X222 30,0008 * 49= 1,470
OXHAe S A AA &) 1,200,000 = & 6,000
301 et A= 12,960 9,940 3,020
09 HAIAHI BEAZ 12,960 9,940 3,020
OXEs sl &IHodl
80,000 * 40 » 1 * 13 3,200
OXNHES =203 =IHAH|
80,000 = 40 » 1 * 13 3,200
ON=ZXNHESHOILFY MHEEBE =D HI
80,000 = 10¥ * 23| 1,600
OXNESsa A J1EA EIHNHI
80,000 = 40¥ * 13| 3,200




SN MOtSS At
FH: oA 22 (S#FES/HH)

ool MEY BH (el @2)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXetd diXNEsd d=10s &I Y|
80,000& * 6Y * 2« x 13 960
OXNEs2dEAJS &I H|
80,000 ~ 1% = 103 800
=EUHZZE 8= 18,498 17,336 1,162
101 Q121 H] 17,298 16,136 1,162
04 JI2ZtHIZ22ANEE S 17,298 16,136 1,162
OFAXNT MERAS AR o
41,6803 * 6Y * 202 * 23| 10,004
OHHY £ Hsoey 43 AL
41,6803 « 10¥ * 52 x 23] 4,168
OZNAT L 25 2243 A
41,6803 * 3Y * 52 * 53| 3,126
201 Bt 1,200 1,200 0
01 AF2 22| H| 1,200 1,200 0
O=ZEUEZE23 7 2,000& x 3= » 2004 1,200
NZSAME 2 (Lt 28N /2B A ) 205,352 183,222 22,130
= 26,656
& 15,597
Al 163,099
ANEEAHEHSY 205,352 183,222 22,130
= 26,656
& 15,597
Al 163,099
A2 AE A 35,040 39,000 A 3,960
301 et A= 7,040 0 7,040
09 SHAIAHI E A2 7,040 0 7,040
OXSESALAF W=E0Hl 80,0008 * 40 » 1 3,200
OXISAI 2483E 98 f3a8s A0
80,000 * 3H x 32 x 23] 1,440
OXNISAI 243E & gtes 240
80,000 = 10¥ » 1 * 33 2,400
307 QI2t0| ™ 28,000 39,000 A 11,000
02 A2AtAMNE XS 28,000 29,000 A 1,000
OX2AI0IL2IXNHE 29
9,000,000& = 14 9,000
OX2SAH IESAE 29
9,000,000& = 14! 9,000
OXESAHEEH A2AX M XS
5,000,000& = 14! 5,000
OXNI=A Ob2H0H 0l 24 5,000,000& = 1A 5,000
N R==INA=1a= )] 15,000 0 15,000

307 glztol & 15,000 0 15,000




M MOtSS At
o NRASAMEH 2 (LTI /L)
&S HFSAUEH2E (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 BIZHHAIE RS 15,000 0 15,000
OXN6sl d=Al NBSAEES
15,000,000& = 13l 15,000
ANZUASAICUHOHLEEEZX 2 (2) 53,312 46,062 7,250
= 26,656
< 7,997
Al 18,659
307 glz2+ol & 53,312 46,062 7,250
= 26,656
< 7,997
Al 18,659
02 QItFAE XS 53,312 46,062 7,250
OBz X& 14,006,000& * 14 14,006
= 7,003
< 2,101
Al 4,902
OZCIUIOIHXIA 39,306,000 * 14l 39,306
= 19,653
< 5,896
Al 13,757
HESMEH2E(Z) 102,000 92,000 10,000
< 7,600
Al 94,400
307 glz2tol & 102,000 92,000 10,000
< 7,600
Al 94,400
02 QIZtFAEXZ 2,000 2,000 0
OXZENIASMEZIH2IXE
2,000,000 * 14l 2,000
= 600
Al 1,400
05 RIZHRI &3 100,000 90,000 10,000
OANZ NI SAMEEH 2SS XA
100,000,000& * 14l 100,000
< 7,000
Al 93,000
DI (LS SHE /LBH ) 133,203 120,496 12,707
= 37,557
Al 95,646
QI MBI AMS 133,203 120,496 12,707
= 37,557
Al 95,646
HNEsZeggdl 29 34,231 27,864 6,367
201 €24 29,231 27,864 1,367
01 At 22l 29,231 27,864 1,367
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SN MOtSS At
B DN (AUDIHE/LBHE)
ol AT NHIAES (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OZuURHEEF 2AX L& 500,000& * 1K 500
OgldE ZFH 7 2,900
—=H 1,000,000 = 2CH 2,000
—2LH 450,000 = 2CH 900
HAELsSEAXNE(R) 15,600 18,986 A 3,386
= 15,600
101 1Al 6,480 6,346 134
= 6,480
04 JIZtHZ22 s E+ 6,480 6,346 134
OUALIHUTY BEARY
,480,000& = 1 6,480
= 6,480
202 Oddl 9,120 12,640 A 3,520
= 9,120
01 = LH 4 Hi 9,120 12,640 N 3,520
OWzYR=A0o mE ol 9,120
— 2t o4 dl 20,000& = 4% * 9&» 12& 8,640
= 8.640
— 220yl 80,000& = 3% « 23] 480
= 480
IIEHAHAESMRBNA(S) 21,957 22,219 A 262
= 21,957
201 24l 11,317 11,859 A 542
= 11,317
01 AFR2t2lHl 11,317 11,859 A 542
OAtR2teld| 11,317
—ZgE EHFY 150,000& * 120H * 43 7,200
= 7,200
—SAEXNTY 20,000& » 50&A « 23| 2,000
= 2,000
—NREE U AR
25,000& * 25& * 23] 1,250
= 1,250
—dRB=2S 216,750& = 204 = 23l 867
= 867
202 Oddl 10,640 10,360 280
= 10,640
01 = LH 4 Hi 10,640 10,360 280
ONEAHSESLR=E A 10,640
— 2t o4 dl 20,0003 = 14% = 15 = 2& 8,400
= 8,400
— 22 0 Hl 80,000& = 14% = 2¢ 2,240
= 2,240
HALS 8,049 7,741 308




2N
X ZH -
L= B

el

LT
AYH (AU TTHY /U )

A - ER(EN) - AR - B of & o4 SSa HI DS
101 @124 H] 5,169 4,861 308
04 DIt Z22XsSE+ 5,169 4,861 308

OOALZ HAXY JAHIEX B4 5,169
~oAYD HuRY BIOLY
41,6808 = 18 » 100 4,168
- 5= 41,680% = 18 » 20€ 834
— 3= 41,6803 * 18 = 4¢ 167
201 2Bt | 2,880 2,880 0
01 AtR 22l | 2,880 2,880 0
Ozazd g2= M 500& = 2,0000H 1,000
ONZYERS T RAUE=(2HHS)
300,000& * 3CH * 23 = 50/100 900
OUALZHE A R0
100& » 35 * 1,00004 300
OELIBY ANS2E 72
20,0002 * 2& = 123 480
ONAURE RESE 7Y 400 = 5000HK 200
HY2HZH (MOtSS AR (JIEH/DIEH) 68,774 67,924 850
Jl=23dl 68,774 67,924 850

Jl=23dHl 68,774 67,924 850
201 fet2E | 16,734 16,734 0
01 At 22l I 16,734 16,734 0

OSAEXN F¢ 13,000& = 13%FA » 128 2,028
OEZ20HAHI 6,000& = 641 = 138 = 12E 5,616
Odeteg 100,000& * 12& 1,200
OArE =AY 50,000& » 123 600
Oa72 =4t 6.510
— S Al =2 500,000& » 1CH 500
—ZgH el 100,000 * 3CH = 50/100 150
— =AM EH 200,000& 53 = 1CH 1,000
—ZEH EU(E%) 200,0008 * 53 * 304 3,000
—ZelH Eu(Zat) 200,000& * 53 * 104 1,000
—PC =¢cl 100,000& * 13CH * 20/100 260
— JIEt =2l 50,000& » 12& 600
OJIEt ALR 22l 5,000& = 138 * 12 780
202 Ol 47,840 46,540 1,300
01 2ol 47,840 46,540 1,300
OMOISS At 2T 044l 47,840
— 2o b 20,000% » 138 » 12¢ = 128 37,440
— 22/l 80,000& = 13& = 10 10,400
203 2R =AY 3,000 3,000 0




SN MOSEAD
N HESHAH (MOISZ2ALD) (JIEHDIE
el Jl=2d

SA - BB (3) - NRAL - B Of & o il
04 EASIYRFLH 3,000 3,000
ORAN2EYE=AHI 250,000& = 123 3,000
204 MR FH| 1,200 1,200
01 ¥R 1,200 1,200
OXNHSHRL+HZH (MOISSALE)

100,000& * 1& » 128 1,200




